—~
110N/

PARASOLS

Mounting instructions gabion basket and seat plate
for type SCHATTELLO, SZ411, SZ412, SZ420,SZ201 and SZ203

The following instructions include all information necessary for the assembly and operation of this
gabion basket. To avoid any misunderstanding we advise you to read these instructions carefully

and then keep them for later reference.

injuries or damage to property.

Caution o
assume any liability or guarantee.

e Always follow the safety regulations.

Non- observation of mounting instructions can result in personal

Please note that if these instructions are not observed, the manufacturer cannot

e Should you not understand any part of these mounting instructions, please

contact your MAY dealer.

Scope of delivery

Gabion basket Seat plate
steel, hot dip galvanized HPL material, grey decor,
art. no. 357885 4 screws included
art. no. 357890
Stand 40-4454 English page 1 of 8



—~
110N/

PARASOLS

Assembly

1. Before assembly, the parasol must be erected, opened and aligned. You will find the
detailed instructions in the manual ,SCHATTELLO suitable for installation options without
placement hinge". If you do not follow this order, it will become extremely difficult to fix the

centre pole with the two M10 cylinder screws.

If the parasol is not fully anchored, it can cause serious or even fatal

If the M10 screws work loose, the wind can lift the parasol.

Danger e Use only the original M10 socket head screws and tighten them with a torque

of 20 Nm.

e Secure the M10 socket head screws with the locknuts

2. Put the gabion basket into the pedestal.

3. Get the stones you would like to use. The grain size must not be less than 60/90mm or at
least larger than the wire mesh size 50 mm. In case of a grain size of 60/90 mm the filling
reaches a load of approximately 110 kg. If required, please follow the table below:

Size of parasol SCHATTELLO Total weight
all gabion baskets including
stones
round: @ 3m - @ 5m, 2.5x3.5m min. 124 kg,
square: 3x3m - 4.5x4.5m optimally min. 2 filled gabion
rectangular: all excluding 4xé6m baskets
triangular: 4x4x4m, 6x6x6m
@ 6m - @ 7m, 4x6m, 5x5m min. 248 kg,
optimally min. 4 filled gabion
baskets

Stand 40-4454 English

page 2 of 8



—~
110N/

PARASOLS

4. Fill the gabion baskets with the stones.

A falling parasol can cause serious or even fatal injury.
If the pedestal is not equipped with sufficient weight according to the size of the
parasol, the parasol my fall and cause injuries.

e Observe the information given in the above chart.

e In windy locations the number of slabs must be increased.

5. Put the seat plate into the gabion basket. Use the purchased MAY HPL seat plate (article no.
357890), or design your individual seat. Therefore, you will find sketches in the following
chapter “"DIY seating".

Stand 40-4454 English page 3 of 8



—~
116N/

PARASOLS

6. Use a torx 20 to fix the seat plate with the 4 screws delivered. There is one screw for each
corner.

7. Repeat these steps for all gabion baskets.

Stand 40-4454 English page 4 of 8



PARASOLS

page 5 of 8

English

&0
132 103 103 132
20 34
R70
A - -
Ll
| ! ! [l 1l [l
= *» * +* ¢ * * »
s — s -
7.._
-
- =
- =
=3
w
s - -
A L B 2 + * ﬁ +
a s =
-
# | J| L\ \
10 10 10 3%
(5900 =1)
Mafle in mm
Pos. | Menge |Nummer Benennung WerksToff
1 2 |ooexxx-10 Anschraubbret? zu Sitzplatte (Rost] £32x20x63 Ezche
2 2 |oxxxx-10 Breff zu Sitzplatfe [Rost) 500x20x132 Esche
3 2 |exxxxx-10 Breft zu Sitzplatte (Rost) 500x20x103 Esche
& 1B [xxxxxx ASSY 3_0 AZ Senkkopf 4x35 Stainless steel A2
ligemen-
[toleranzen
[oIN 150 2768-nK
Gewen? [hgh 3.5%
ferst [Positionznunmer in de- Stacklizte-
| EFS——
Freg: Sitzplarte {500x500 Rost) {MonT2gebaugruppe)
me.mnm._.ham“unwc _m___,w: A e ratus: [Typ
mmu...,s m_.T wa S 0 Korrekrut ZUSATZAUSSTATTUNG
SRR RS = FaTas [Farmer [BieT v
Bev. | Anderung Datun Name: |Schutzvermerk IS0 15016 beechten  [idestnummer $000043236 = 23 141

: I z I = I J I 2 [ | ! I ¢

Do-It-Yourself seating

Stand 40-4454



PARASOLS

00}
Y
o
3 | ¢ 5 6 ©
(0]
()}
©
o
A
2xL5° alle Kanfen A 20
5!
o B8l H
i)
- - S *
[¥al v °
D = R | <
\ =N
B
" A A-A
T T T T T T T T
& 2 & = = -+ - o~ o
= - = & & = M <+ o
2 <
| 0
©
c
1N}
C
Mafle in mm
m Halbzeug: 432%20x65 -
Aligemein- Rom ﬁ vierkstoff: Esche thermisch behandelt glatt
toleranzen DING T1-
DIN IS0 2768-mK Projmethode 1  |Oberflachen:
Datum: Name Gewicht {kg): 038
Erst.: Positionsnummer in Sfuckliste:
Gepr. Benennung: i
Freig: Anschraubbrett zu Sitzplatte [Rost) 432x20x65
mem%_.hamﬂucm%nmﬂéz Artikelnummer: Status: | Typ:
e Korrektuf BEFESTIGUNGSELEMENT
88L22 Befzenweiler xxxxxx-10
Malicfab] Formaf: |Blafi/von: M.J
Rev.| Anderung: Datum:  [Name: |Schutzvermerk IS0 16016 beachten |ldentnummer: 0000044240 12 AL 1/ 1 M_._.
3 4 5 6 I
5
o
C
]
g
0]




PARASOLS

1 2 2 3 6
A & A
od
& 2xL5° alle Kanfen
B B
m
=
e
500
C C
Mafle in mm
- m Halbzeug: 500x20x103
Allgemein- = Werkstoff: Esche rhermisch behandelt glaft
toleranzen DING T1-
DIN IS0 2768-mK Projmethode 1 Oberflachen:
Datum Name: Gewicht {kg): 0.71
Erst: Positionsnummer in Stuckliste:
Gepr. Benennung
D D
Freig: Brett zu Sitzplatte (Rost) 500x20x103
me.whﬁhpmw%%n%ﬂuz Arfikelnummer: Status: | Typ:
L EFES | T
88422 Betzenweiler ERRRRE0 Korrektug BEFESTIGUNGSELEMEN
| Mahsfab] Format: |Blati/von:
Rev.:| Anderung: Datum: Name: |Schutzvermerk IS0 16016 beachten  [ldentnummer: 00000442 12 AL 1/ 1
2 4 5 6

page 7 of 8

English

Stand 40-4454




PARASOLS

5 6
=1
o~
R70
o~ M
s
2x45° alle Kanten
500 =1
Male in mm
m Halbzeug: 500x20x132
Allgemein- : - werkstoff: Esche thermisch behandelt glatt
toleranzen DING T1-
DIN IS0 2768-mK Proj.methode 1 Oberflachen:
Datum: Name Gewicht {kg): 0.88
Erst.: Positionsnummer in Sfuckliste:
Gepr. Benennung:
Freig:

May GeraTebau GmbH

Brett zu Sitzplatte (Rost) 500x20x132

Artikelnummer: Status: | Typ:
Zum Munibach 1 Korrektul BEFESTIGUNGSELEMENT
88422 Befzenweiler xxxxxx-10
| Malisfzb] Formaf: |Blafi/von:
Rev.| Anderung: Datum:  [Name: |Schutzvermerk IS0 16016 beachten [ldentnummer: 0000044241 12 AL 1/ 1
2 4 5 6

page 8 of 8

English

Stand 40-4454




